angular.module ('starter.services', [])

.factory ('Waratha', function (Masail,$log) {

var result = {

asl : 1,
aol: O,
cppcm:1,

tasmia:angular.noop ()
}
//var asl =
//var aol =
//var cppcm

.
4

l,// :l_lLu_L| a_)“_ma_?_l

I o

function nasibFroud(nl, n2) {
if (l'angular.isDefined(nl) && 'angular.isDefined(n2)) {

}

function getWareth (warith) {
if (!'isNaN(warith)) {
return waratha[warith];
}
else {
for (i in waratha) {
if (waratha[i] .mlbl == warith) {
return warathali];
}
}

throw 'no wareth with 1bl = ' + warith

}

var minNasib = function (_this ) {
var this = (angular.isDefined( this ) ? this : this)
var n = (angular.isDefined( this .withMul) && this .number >
1 ? this .wa7dahMul : this .wa7dah);

for (j in waratha) {
if (waratha[j].selected && this .index != waratha[j].index)

{
var tmp = (angular.isDefined( this .withMul) &&
_this .number > 1 ? this .withMul.charAt(j) : this .with.charAt(j));
n= (tmp < n ? tmp : n)
}
}
_this .nasib = n
//console.log(n) ;
return n;

}i

[/ SN el aw Ll
function gcd(a, b) {
return b === 0 ? a : gcd(b, a % b);

}



// sroN Pl s Lall
function lcm(a, b) {

return Math.abs(a * b) / gcd(a, b);
}

var waratha = |
{

index: 0,
mlbl: "ibn",
1bl: '"o!',
wa7dah: '1"',
gender: '1',
selected: false,
number: O,
with: 'lbllccccccecellllllll11111?',
nasibf: minNasib,
scope:99

index: 1,

mlbl: "bint",
1bl: 'ooo',
wa7dah: 'j"',
wa7dahMul: 'k',
gender: '0',
selected: false,
number: O,

with: '33333333333333333333333",
withMul: 'bkkkkkkkkkkkkkkkkkkkkkkk',

nasibf: minNasib,
scope: 99

index: 2,

mlbl: "ibn ibn",

1bl: "ol oml 'y

wa’dah: '1"',

gender: '1"',

selected: false,

number: 0,

with: "aclbccccccecellllllllll111l™,
nasibf: minNasib,

scope:99

index: 3,

mlbl: "bint ibn",
Ibl: "ol oSty
wa7dah: 'j"',
wa/dahMul: 'k',
gender: '0',
selected: false,
number: O,

with: "afbjjjjJijJiJijdiidiiddddiid",
withMul: "afbkkkkkkkkkkkkkkkkkkk",

scope:99,



nasibf: function () {

if (getWareth('bint') .selected && getWareth('bint') .number
> 1 && !getWareth('ibn ibn') .selected) {

this.nasib = 'd’
return 'd'

} else {
return minNasib (this);
}
}
}I
{

index: 4,

mlbl: "zouj",

1bl: "z45"',

wa7dah: '3',

selected: false,

number: 0,

with: "hhhhjx3j3j3j3jjjjjjijijiiiiiziza",
scope: 1,

nasibf: function () {

waratha[5] .number = 0
waratha[5] .selected = false

waratha[5] .desable = true;//is>y 3 HLs Juhss
return minNasib (this) ;

index: 5,

mlbl: "zouja",

1bl: "4is43",

wa7dah: 'h',

selected: false,

number: O,

with: "eeeexhhhhhhhhhhhhhhhhhhh",

scope:4,

nasibf: function () {
warathal[4] .number = 0
waratha[4] .selected = false
waratha[4].desable = true;//z, 331 H L3 Juhszs
return minNasib (this)

index: o,
mlbl: "abb",

lbl: 'oi’,
wa’/dah: '1"',
gender: '1',

selected: false,

number: O,

with: "fcfccclecllellllllllllall"™,
scope:1,

nasibf: function () {



if
I

Logae iJlwe 45LS 151

o=l o=l !

this.nasib =
return 'm';

} else if

|1

oY e LI
this.nasib
return 'f'

else {

lml

/] 5L
(getWareth ('ibn') .selected
getWareth ('ibn ibn') .selected)

e

Vf'

return minNasib (this)

index: 7,

mlbl: "omm",

1bl: 'P?',

wa7dah: 'i',

selected: false,

number: O,

with:

scope:1,

nasibf: function
if

i yas Pl 45LS 15

Y T oY)

this.nasib

()

{

an

akh or okhet omm') .number > 1)

(Masail.getMasala ('l 4o, ,axt1"').validate (waratha)
Masail.getMasala('2 4,,0x2])1").validate (waratha))

(Masail.getMasala ('l i, ,sxJl"').validate (waratha)
Masail.getMasala('2 4i,,.xJ1").validate (waratha))

whadl aY1 ixls
LSLS1 o1 o5LS | 5453

dlxs adgil)

r

{

return 'n'; //_SLol ol
}
// 5 SLs GLiS1) 5asY 1 oue LS 15
[/ s Labl) 1e5LS dg> sl o guidiz gl
[/ wawdl 4o 5 a3l 4] LS (L)
else 1if (getWareth('akh chak') .number
+ getWareth ('okht chak') .number
+ getWareth ('akh abb') .number
+ getWareth ('okht abb') .numbe
+ getWareth ('
this.nasib = 'f£';
return 'f' //gdw]!
}
else {

return minNasib (this)

}

index:
mlbl:
1bl:

wa/dah:
gender:

selected:

8,
"jad",

L} L}
>y

VlV,
|lV’
false,

{7/

{7/



I

number: 0,
with: "fcfcccaclccbbbbll1111111"™,
scope:1,
nasibf: function () {
return minNasib (this)

}

index: 9,
mlbl: "jada abb",
1bl: 'OY 34",
wa7dah: 'f',
selected: false,
number: O,
with: "ffffffaaffpfffffffffffff",
scope:1,
nasibf: function () {
if (getWareth('jada omm') .selected
&& !'getWareth('abb') .selected
&& !'getWareth('omm') .selected)
this.nasib = 's'
return 's'

}

return minNasib (this)

index: 10,
mlbl: "jada omm",
1bl: '"&Y 3",
wa/dah: 'f',
selected: false,
number: O,
with: "fffffffafpffffffffffffff",
scope:1,
nasibf: function () {
if (getWareth('jada abb') .selected
&& !'getWareth('abb') .selected
&& !'getWareth('omm') .selected)
this.nasib = 't'
return 't'
}

return minNasib (this)

index: 11,

mlbl: "akh chak",

1bl: 'guid gl1',

wa7dah: '1"',

gender: '1',

selected: false,

number: 0,

with: "acacccacccclbllelllll111l™,
nasibf: minNasib,

scope: 99



by
{

by
{

by
{

index: 12,

mlbl: "okht chak",

1bl: 'dawis axi',

wa7dah: '3',

wa7dahMul: 'k',

gender: '0',

selected: false,

number: 0,

with: "acacjjajjjjbjjjjiiiiiiia",
withMul: "acackkakkkkbkkkkkkkkkkkk",
nasibf: minNasib,

scope: 99

index: 13,

mlbl: "akh abb",

1bl: 'g;}l Ci ',

wa/dah: '1"',

gender: '1',

selected: false,

number: O,

with: "acacccaccccaclbellll1111l™,
nasibf: minNasib,

scope:99

index: 14,

mlbl: "okht abb",

1bl: 'OY osi',

wa7dah: '3',

wa/dahMul: 'k',

gender: '0',

selected: false,

number: 0,

with: "acacjjajjjjafbjJjJjiiiiig",
withMul: "acackkakkkkafbkkkkkkkkkk",
scope:99,

nasibf: function () {

if (getWareth ('okht chak') .number > 1
&& !getWareth('akh abb') .selected
&& !'getWareth('abb') .selected
&& !'getWareth ('akh chak') .selected
&& !'getWareth('ibn') .selected
&& !getWareth('ibn ibn') .selected)
this.nasib = 'd’
return 'd’'
}
return minNasib (this)

}

index: 15,

mlbl: "akh or okhet omm",
1bl: ‘PH asl / éi',
wa7dah: 'f',



I

wa7dahMul: 'i',

gender: '1',

selected: false,

number: O,

with: "aaaaffafafffffffffffffff",

withMul: "aaaaiiaiaiiiiiiiiiiiiidii"™,

nasibf: minNasib,
scope:99

index: 16,

mlbl: "ibn akh chak",

1bl: "Gudd g1 ogal',

wa/dah: '1"',

gender: '1',

selected: false,

number: 0,

with: "acacccacaccacaccll111111"™,
nasibf: minNasib,

scope:99

index: 17,

mlbl: "ibn akh abb",

1bl: 'g;}! Ci o=ty

wa’/dah: '1"',

gender: '1',

selected: false,

number: O,

with: "acacccacaccacaccalllllll"™,
nasibf: minNasib,

scope:99

index: 18,

mlbl: "amm chak",

Ibl: "Guddh ac',

wa/dah: '1"',

gender: '1"',

selected: false,

number: O,

with: "acacccacaccacaccaallllll"™,
nasibf: minNasib,

scope:99

index: 19,

mlbl: "amm abb",

1bl: 'OY pc',

wa7dah: '1',

gender: '1"',

selected: false,

number: 0,

with: "acacccacaccacaccaaalllll",
nasibf: minNasib,

scope:99



index: 20,

mlbl: "ibn amm chak",

1bl: 'Gadb ps ool

wa/dah: '1"',

gender: '1l',

selected: false,

number: O,

with: "acacccacaccacaccaaaallll",

nasibf: minNasib,
scope:99

index: 21,

mlbl: "ibn amm abb",

1bl: 'OY e ool

wa7dah: '1"',

gender: '1',

selected: false,

number: 0,

with: "acacccacaccacaccaaaaalll",
nasibf: minNasib,

scope:99

]
function clacRad (w, xtot) {

var some = Number (w[l].sahem)

+ Number (w[3].sahem)+ Number (w[4].sahem)+
Number (w[5] . sahem)

+ Number (w[7] .sahem)+ Number (w[9].sahem)+
Number (w[10] .sahem)

+ Number (w[1l2].sahem)+ Number (w[13].sahem)+
Number (w[14] .sahem)

+ Number (w[1l5].sahem)+ Number (w[1l6].sahem);

var sihamAshabFouroud =
[Number (w[1l] .sahem) , Number (w[3] .sahem) , Number (w[4] .sahem) , Number (w[5].
sahem) , Number (w[7] .sahem) , Number (w[9] .sahem) , Number (w[10] .sahem),

Number (w[12] .sahem) , Number (w[13].sahem) , Number (w[1l4].sahem), Number (w[1l
5] .sahem) , Number (w[16] .sahem) ];
// JJJ‘ o Lw>
if (some < result.cppcm //is I
[/ opariIly Sy o d2eY
&&'w[0] .selected

&&!'w[2] .selected
&&!'w[6] .selected
&&!'w[8] .selected
&&'w[ll] .selected
&&'w[l6] .selected
&&!'w([1l7] .selected
&&!'w[1l8] .selected
&&'w[1l9] .selected
&&'w[20] .selected
&&!'w[21] .selected) {



if (!w[4].selected && !w[5].selected){ // gosid!l Ss>5 (8 (O
$log.debug ("gogidl asl Se>g Ggd SH")
Slog.debug ('d! s,J1 !
+ some)

var sahem = -1; // IF sahem = -2 THEN 55dxio g, olxwol
ELSE u>l4 g1 olxol
for(var i = 0; 1 < sihamAshabFouroud.length; i++) {
if (sahem != -1) {
if (sihamAshabFouroud[i] != sahem &&
sihamAshabFouroud[i] != 0) {
sahem = -2;
break;
}
}
if (sihamAshabFouroud[i] != 0
sahem = sihamAshabFouroud|

{
1;

)

i];
}

}

if (sahem == -2) {
$log.debug ('ssuxie gwoyd wlxol');
}else{
S$log.debug ('usl g @yd wlaol ') ;
}
telse{ // gosidl 24>
$log.debug ("gog i dl asl se>g @ 3y")
}

}
}

return {

all: function () {
return waratha

by

setWareth: function (wareth, num) {
this.getWareth (wareth) .number = num;
this.getWareth (wareth) .selected = true;

by

getWareth: getWareth,

calc?2: function () {
$log.debug("calc");
waratha[8] .1lblnasib = null
waratha[4] .desable = false;
waratha[5] .desable = false;
var jad = false;
var empty = 0;
result.tasmia = angular.noop();

//YPTJ‘)LH_ZJ&_I;LN_UJJ:Q_BJQ_LAW

result.isRad = false;

for (var i in waratha) {
if (waratha[i] .number == 0 || !waratha[i].selected) {
waratha[i] .selected = false



waratha[i] .number = 0
waratha[i] .sahem = 0

empty++
}

if (empty === 22)
return;

if (waratha[i].selected) {
waratha[i] .nasibf ()

}

[/ d0lic cuaas JS Gl
switch (waratha[i].nasib) {
case 'e':waratha[i].makam = 8;break;// !

[
case 'f':waratha[i].makam = 6;break;//wiwll
case 'h':waratha[i].makam = 4;break;// gz ]!
case 'i':waratha[i].makam = 3;break;//als !
case 'j':waratha[i].makam = 2;break;//iuail!
case 'k':warathal[i].makam = 3;break;// LSl
case 's':waratha[i].makam = 12;break;//a¥! al g0 godull
case 't':waratha[i].makam = 12;break;//o¥! al g0 godwll
default :warathal[i].makam = 1;break;// olxwol Go g
w9 )]
}
}
//5s331 & adl doldl oY LE
if (waratha[8].selected && !waratha[6].selected) {//ol 4>a.Y
var frere = (warathal[ll].number + warathal[l3].number)
*2+waratha[l2] .number + waratha[l4].number
if (waratha[0] .selected || waratha[2].selected) {//izly 42!
Ol Ol gl YT gy éuﬂd_ul_l‘
waratha[8] .nasib = 'f'

waratha[8] .makam 6

}
else //om! ooty oY1 olue g 131 Y

if (waratha[ll].selected || waratha[l2].selected ||
waratha[l3] .selected || waratha[l4].selected) {
var jam = 0
for(var i in waratha)
if (waratha[i] .selected && waratha[i] .makam != 1 && i
!= 12 && 1 != 14) jam += 1 / waratha[i].makam

//console.log ("jam", jam);
switch (jam) {
case 0://pys il olxol olus

if (frere == 4){
waratha[8].lblnasib = "dwlall o1 &adsdr’
waratha[8] .nasib = 'i'
waratha[8] .makam = 3
}else
if (frere > 4){
waratha[8] .nasib = 'i'

Il
w

waratha[8] .makam



}
if (!waratha[ll].selected && waratha[l2].number >1
&& warathal[l2] .nasib == 'b') {
waratha[l2] .nasib = 'k'
waratha[8] .makam = 3
if (waratha[l3].selected){ waratha[l3].sahem =

O,waratha[l3] .nasib = 'd'}
if (waratha[l4] .selected){ waratha[l4].sahem =
0;waratha[l4] .nasib = 'd'}
}
break;
case 1/4:case 1/6:case 1/4+1/6:
if (frere == 4) {waratha[8].lblnasib = '37 - U BTN Wk
ivlall'; waratha[8] .nasib = 'n';
waratha[8] .makam = 1; jad = true
}
if (frere > 4) {waratha[8] .nasib = 'n';
waratha[8] .makam = 1;jad = true;}
break;
case 1/2:
if (frere == 4) {waratha[8].lblnasib = ",i wawl!

ivliall'";waratha[8] .nasib ="'f';waratha[8] .makam = 6}
if (frere > 4) {waratha[8] .nasib =
'f';waratha([8] .makam = 6}
break;
case 1/2+1/6:case 1/2+1/8:case 2/3:
if (frere > 2) {waratha[8].nasib =
'f';waratha[8] .makam = 6}
break;
case 1/2+1/4:
if (frere > 1) {waratha[8].nasib =

'f';waratha[8] .makam = 6}
break;
case 1/3 +1/4:
if (frere == 2) {waratha[8].lblnasib = "1 wawll
ivlall'; waratha[8] .nasib = 'f';waratha[8] .makam = 06}
if (frere > 2) {waratha [8].nasib =
'f';waratha[8] .makam = 6}
break;
default
if(jJam > 1/3+1/4) {waratha[8] .nasib =
'f';waratha([8] .makam = 6}
}
if (waratha[8] .nasib == 'b') jad = true
}
}
if(jJad && (waratha[ll].selected || waratha[l2].selected ||
waratha[l3] .selected || warathal[l4d].selected)) {
if (waratha[8] .nasib == 'b') {

if (waratha[ll].selected) {waratha[ll] .nasib =
'b';waratha[ll] .makam = 1}

if (waratha[l2] .selected) {waratha[l2] .nasib =
'b';waratha[l2] .makam = 1}

if (waratha[l3].selected && !waratha[ll].selected)
{waratha[l3] .nasib = 'b';waratha[l3].makam = 1}



if (waratha[l4].selected && !warathal[ll].selected)
{waratha[l4] .nasib = 'b';waratha[l4] .makam = 1}
}
}

//console.log ("«31", waratha[8].nasib);
//console.log ("is sl ox¥YI", waratha[l2].nasib);
/] Jao L5
var lcmValue = 1;
for (var i in waratha) {

if (waratha[i] .selected)

lcmValue = lcm(waratha[i] .makam, lcmValue)

}
//console.log('result.asl',lcmValue) ;
result.asl = lcmValue;
result.cppcm = result.asl;

var xtot = 0 //gpg il ngoi P—@-“’T ¢ 402
for (var i in waratha) {//@s,—dl olxol apewl &&

if (warathali].selected /*&& !(jad && 1 == 12)*/) {
if (warathali] .makam != 1) {// @b wolo LS 131
if (warathal[i].nasib == 'k')// L5l
warathal[i] .sahem = result.cppcm * 2 / 3
else

waratha[i].sahem result.cppcm / warathal[i].makam
} else { // wole
waratha[i] .sahem = 0
}
if (waratha[i] == '1'")//JLLI JS
waratha[i] .sahem =1

Xtot += waratha[i].sahem

}

//console.log ('result.cppcm ', result.cppcm)

//console.log('xtot',xtot);

[/ wawdl e 3Ll gais 131 gawdl ad gl OY I s Lhe!

if (getWareth('abb').selected && getWareth('abb') .nasib ==

'c' && result.cppcm - xtot <= result.cppcm / 6) {

$log.debug ("o gwawdl ")
getWareth ('abb') .nasib £/ ]l
getWareth ('abb') .makam = 6;
getWareth ('abb') .sahem = result.cppcm / 6
xtot += result.cppcm / 6

|~

}

if (getWareth('jad') .selected && getWareth('jad') .nasib ==
'c' && result.cppcm - xtot <= result.cppcm / 6) {
getWareth('jad') .nasib = "f' //waw]l
getWareth('jad') .makam = 6;
getWareth('jad') .sahem = result.cppcm / 6
xtot += result.cppcm / 6



}

/oS Sl asd
if(!'jad
&& (getWareth ('okht chak') .selected &&
chak') .nasib == 'c¢")

|
abb') .nasib == 'c¢')

getWareth ('okht

(getWareth ('okht abb') .selected && getWareth ('okht

.nasib == 'c¢' ||
;waratha[l3].sahem

|
c
&& (waratha[l3].selected //oY ;|
| | waratha[1l4].selected //oY asi
|| waratha[l6].selected //oY g1 (o
| | waratha[l7].selected //
| | waratha[1l8].selected // Guid pas
| | waratha[l9].selected // oY eas
| | waratha[20].selected //Ggsidb pe (o
| | waratha[21].selected))//oY ac (o
{
if (waratha[l3].selected && (waratha[l3]
waratha[l3] .nasib == 'b')){ waratha[l3].nasib = 'd’
= 0}

if (waratha[l4].selected && (waratha[l4]
waratha[l4] .nasib == 'b') && waratha[l2].selected) {
= 'd';waratha[l4].sahem = 0}

if (waratha[l6] .selected && waratha[l6].
{waratha[l6] .nasib = 'd'; waratha[l6].sahem = 0}
if (waratha[l7] .selected && waratha[l6].
{waratha[l7] .nasib = 'd'; waratha[l7].sahem = 0}
if (waratha[1l8] .selected && waratha[l6].
{waratha[1l8] .nasib = 'd'; waratha[l8].sahem = 0}
if (waratha[l9] .selected && waratha[l6].
{waratha[l9] .nasib = 'd'; waratha[l9].sahem = 0}
if (waratha[20] .selected && waratha[l6].
{waratha[20] .nasib = 'd'; waratha[20].sahem = 0}
if (waratha[21] .selected && waratha[l6].
{waratha[21] .nasib = 'd'; waratha[21].sahem = 0}
}
[/ Js= I O lus>
if( xtot > result.cppcm){ //Jse Jlall &
result.cppcm = xtot
result.aol = xtot;
telse{//Jse iILull & g
result.aol = 0

}

/] pgw Gam b I G
if (xtot >= result.cppcm) {
for(var 1 in waratha) {
if (waratha[i] .selected)
if (waratha[i] .nasib == 'b'") {
waratha[i] .nasib = 'd';
waratha[i] .sahem 0

.nasib == 'c' ||
warathal[l4] .nasib

nasib == 'c')
nasib == 'c¢'")
nasib == 'c')
nasib == 'c')
nasib == '¢'")
nasib == 'c')



var baki = result.cppcm - xtot;
var grand = 1;
var petit = 1;

for (i in waratha) {
if (waratha[i] .selected) {

if (waratha[i] .makam != 1){// @Il &y
if (waratha[i] .sahem % waratha[i] .number != 0) {
grand =

lcm(grand, lcm(waratha[i] .sahem,waratha[i] .number) / warathal[i].sahem)
}
}else if(waratha[i] .makam == 1 && waratha[i] .nasib ==
‘e")Y{// oo Ly &y
if (baki == 0) {//jowaradd b Goo |

waratha[i] .nasib = 'd’
waratha[i] .sahem = 0
lelse{

if(!jad) {//TODO: if nit jad
waratha[i].sahem = baki
grand =
lcm(grand, lcm(waratha[i] .sahem,waratha[i] .number) / warathal[i].sahem)
}
}

if (gcd(petit,grand) == 1) {petit = petit * grand}
else{petit = petit * grand / gcd(petit,grand) }

}
baki = baki * petit
result.cppcm = result.cppcm * petit

for(var i in waratha) {
if(jad && waratha[i] .makam != 1) {
waratha[i] .sahem *= petit
}
}

/74N A el
if (Masail.getMasala ("1l 4o ,exJI").validate (waratha)) {

waratha[4] .sahem = 3
waratha[6] .sahem = 2; waratha[6].nasib = "m"
waratha[7] .sahem = 1;waratha[7] .nasib = "n"
result.cppcm = 6
result.tasmia = "dis e I"
return;

}

// 5L sl

if (Masail.getMasala ("2 4io,0.xJ1").validate (waratha)) {

var p=1;
if (waratha[5] .sahem % waratha[5].number)
p *= warathal[b5].number;

waratha[5] .sahem = p;
waratha[6] .sahem 2 *p;waratha[6] .nasib = "m"



waratha[7].sahem = p;waratha[7].nasib = "n"
result.tasmia = "di e I "
return

}

// A8 ALl
if (Masail.getMasala ("disyall™) .validate (waratha)) {
result.asl = 6
result.cppcm = 6;warathal[4].sahem = 3;baki = 2
if (waratha[7] .selected)
waratha[7] .sahem = 1
if (waratha[9] .selected && !warathal[7].selected)
waratha[9] .sahem = 1
if (waratha[1l0] && !waratha[7].selected)
waratha[l0].sahem =1

var chakl = waratha[ll].number
var chak2 = 0
if (waratha[l2] .selected)

chak?2 = waratha[l2].number

var oum = waratha[l5].number
var moch = chakl + chak2 + oum

if (gcd(baki,moch) != 1) titp = moch / gcd(baki,moch)
else titp = moch

waratha[6] .sahem = 3 * titp

waratha[6] .nasib = '3j'

if (waratha[7] .selected) {
waratha[7] .sahem = titp
waratha[7] .nasib = 'f'

}
if (waratha[9] .selected && !waratha[7].selected) {

9

waratha[9] .sahem = titp
waratha[9] .nasib = 'f'

}

if (waratha[l0].selected && !warathal[7].selected) {
waratha[1l0] .sahem = titp
waratha[l0] .nasib = 'f'

}

waratha[ll].sahem = 2 * titp * chakl / moch

waratha[ll] .nasib = 'o'

if (waratha[l2] .selected) {
waratha[l2].sahem = 2 * titp * chak2 / moch
waratha[l2] .nasib = 'o'
}
waratha[l5] .sahem = 2 * titp * oum / moch
waratha[l5] .nasib = 'o'
result.cppcm *= titp;
Slog.debug ('titp',titp);
Slog.debug('result.cppcm', result.cppcm) ;
warathal[4].sahem *= titp



BESESY
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result.tasmia = "4isyall"
return;

}

J/ i asy T A Lal

if (Masail.getMasala ("4i,,45Y1").validate (waratha)) {
$log.debug (' iLyasi didluo")
waratha[4] .sahem = 9;waratha([4].nasib = 'J"';
waratha[7] .sahem = 6;waratha[7] .nasib = 'i"';
waratha[8] .sahem = 8;waratha[8].nasib = 'q';
if (waratha[l2] .selected) {

warathal[l2] .sahem = 4;waratha[l2].nasib = 'qgq';
}else(
waratha[l4].sahem = 4;waratha[l4].nasib = 'qgq';

}
result.tasmia = "di,,usYI"
result.cppcm = 27
return;

}

// SO A0 Ll

if (Masail.getMasala ("4LSJWLLI ") .validate (waratha)) {
warathal[4].sahem = 3;warathal[4].nasib = "j"';
waratha[7] .sahem = 1;waratha([7] .nasib = 'f';
waratha[8] .sahem = 2;waratha[8] .nasib = 'i';
waratha[l3] .sahem = 0;waratha[l3].nasib = 'd';
waratha[l5] .sahem = 0;warathal[l5].nasib = 'a';
result.tasmia = "l <JL”
return;

}
[/ SN anh 4Ll

if (Masail.getMasala ("4i SNl 4i") .validate (waratha)) {

waratha[4] .sahem = 3;waratha([4].nasib = 'J"';
waratha[7] .sahem = 1;waratha[7] .nasib = 'f';
waratha[8] .sahem = 2;waratha([8] .nasib = 'i"';
waratha[ll].sahem = 0;waratha[ll].nasib = 'd';
waratha[l5] .sahem = 0;waratha[l5].nasib = 'a';
result.tasmia = "L SIL 4"

return;

}

/* U«_ﬁ_l_:SH b e ySad obidely xamal )l polel */

if(!jad) {
var moyen = 1
var men = 0
var women = 0

for (i in waratha) {

if (waratha[i] .selected && waratha[i]
if(i == 0 || i == [] 1 == 11 ||
men = warathal[i].number * 2
if(i == 1 || i == [] 1 == 12 ||
women = waratha[i].number
}
}
moyen = (men + women > 0? men + women

var titp =1

.nasib ==

i == 13)

i == 14)
1)

lb!){
//oLsS 1

/] &L

00



if (baki % moyen != 0)
(

if (gcd (baki,moyen) != 1)
titp = moyen / gcd(baki,moyen)
else

titp = moyen

petit *= titp

result.cppcm *= titp //h> J5o ,SiJl HlLdely auxaidl 3olel

.“.:..al
[/ aaas 3l iy 30 JS paw Gif
for (i in waratha) {
if (warathal[i] .selected) {
if (waratha[i].nasib == 'b') {// WSSV k> (S 4, Sidd pguaas
if (i == || 1 == || i == 11 || i == 13) //oLs I3
DS (o
warathal[i].sahem = baki * titp * men / moyen
else if(i == 1 || i == |l 1 == 12 || 1 == 14) // (=
&SLSY |

warathal[i].sahem = baki * titp * women / moyen
lelse{
waratha[i] .sahem *= petit

}
}
}

if (fad) {

titp =1

frere 0;

var jfrere = 0;

if (waratha[l2] .selected || waratha[l4].selected){ frere
(waratha[ll] .number + waratha[l3].number)*2 + warathal[l2].number +
waratha[l4] .number}

else{ frere = waratha[ll].number + waratha[l3].number}

if (waratha[l2] .selected || warathal[l4].selected) {jfrere
frere + warathal[8].number*2}

else{jfrere = frere + waratha[8].number}

if (waratha[8] .nasib == 'n'") {

$log.debug ("baki"™, baki);
Slog.debug ("result.cppcm", result.cppcm);
if (baki % 3 == 0) {waratha[8].sahem = baki / 3; baki =
2*baki/3}
else(
waratha[8] .sahem = baki
for(var i in waratha) {
if (waratha[i].selected) {
if(i !'= 8 && i !'= 11 && i !'= 12 && 1 != 13 && 1
14) warathal[i].sahem *= 3
}
}
baki *= 2; petit *= 3; result.cppcm *= 3; titp *= 2;
}
}else(
titp = 1



if( baki % jfrere != 0)
if (gcd(baki, jfrere) != 1) titp = jfrere /
gcd (baki, jfrere);
else titp = jfrere;

for(var i in waratha)
if (waratha[i] .selected)
if(i '= 8 && i !'= 11 && i !'= 12 && i != 13 && 1 !=
14) waratha[i].sahem *= titp;

if (waratha[l2] .selected || waratha[l4].selected)

waratha[8] .sahem = baki * titp * 2 / jfrere
else waratha[8].sahem = baki * titp / jfrere

waratha[8] .nasib = 'r'

petit *= titp

baki = baki * titp - waratha[8].sahem
result.cppcm *= titp

moyen = 1;
men = 0;
women = 0;

for(var 1 in waratha)
if (waratha[i] .selected)

if (waratha[i] .nasib == 'b') {
if(i == 11 || 1 == 13)
men = warathal[i].number * 2;
else if(i == 12 || i == 14)
women = warathal[i].number;
}
moyen = men + women;

//console.log ("moyen", moyen);

if (waratha[ll].selected && waratha[l2].selected)
if (baki % moyen != 0) {
if (gcd(baki,moyen) != 1) titp = moyen /
gcd (baki,moyen)
else titp = moyen

waratha[ll].sahem = baki * titp * men / moyen
waratha[l2].sahem = baki * titp * women / moyen
waratha[8] .sahem *= titp
for(var i in waratha)

if (waratha[i] .selected)

if(i '= 8 && i !'= 11 && i !'= 12 && 1 != 13 && 1
14)
waratha[i].sahem *= titp

petit *= titp
result.cppcm *= titp

lelse{
waratha[ll].sahem = baki * men / moyen
waratha[l2].sahem = baki * women / moyen



}

if (waratha[l4].selected && !waratha[ll].selected &&
'waratha[l2] .selected && !waratha[l3].selected)
waratha[l4].sahem = baki

if (waratha[l3].selected && !waratha[ll].selected &&
'waratha[l2] .selected && !waratha[l4].selected)
waratha[l3].sahem = baki

if (waratha[ll] .selected && !warathal[l2].selected) {
waratha[ll].sahem = baki
if (waratha[l3].selected) waratha[l3].sahem = 0
if (waratha[l4].selected) waratha[l4].sahem = 0

//2222°?
titp = 1;
if (baki % waratha[ll].number != 0)
if (gcd(baki,waratha[ll] .number) != 1) titp =
waratha[ll] .number / gcd(baki, waratha[ll].number)
else titp = waratha[ll].number

waratha[8] .sahem *= titp
waratha[ll].sahem *= titp
petit *= titp
result.cppcm *= titp

for(var i in waratha)
if (waratha[i] .selected)
if(i !'= 8 && i !'= 11 &¢& 1 != 12 && 1 !'= 13 && 1 !=
14)
waratha[i] .sahem *= titp

}

//console.log ("baki", baki);
//console.log("result.cppcm", result.cppcm);
if (waratha[l2] .selected && !waratha[ll].selected)
if (waratha[l2] .number == 1)
if (baki <= result.cppcm / 2){
waratha[l2].sahem = baki
if (waratha[8] .nasib != 'r'")
waratha[l2] .nasib = 'c'
if (waratha[l3].selected || waratha[l4].selected) {
Slog.debug('here')
if (waratha[l3].selected) {waratha[l3].sahem =
0;waratha[l3] .nasib = 'd’';}
if (waratha[l4].selected) {waratha[l4].sahem
O,waratha[l4] .nasib = 'd';}
}

lelse{

men = 0;
women =

0;
moyen 1;



if (result.cppcm % 2 != 0) {baki *= 2;waratha[8].sahem
*= 2;result.cppcm *= 2;}

waratha[l2].sahem = result.cppcm /2
waratha[l2] .makam = '3’
waratha[l2] .nasib = '3’

baki = baki - result.cppcm /2

//todo : make sure init var men and women
if (waratha[l4] .selected) men = waratha[l3].number *2
else men = waratha[l3].number
women = waratha[l4].number
moyen = men + women
titp =1
if (baki % moyen != 0)
if (gcd(baki,moyen) != 1) titp = moyen /

gcd (baki,moyen)
else titp = moyen

waratha[8] .sahem *= titp
waratha[l2].sahem *= titp

if (waratha[1l3]) waratha[l3].sahem = baki *titp * men
/moyen

if (waratha[l4]) waratha[l4].sahem = baki *titp *
women /moyen

petit *= titp
result.cppcm *= titp

for(var i in waratha)
if (waratha[i] .selected)

if(i !'=8 && i != 11 ¢& 1 != 12 && 1 '= 13 && 1
'= 14)
waratha[i] .sahem *= titp
}
else if (waratha[l2].number > 1) {

waratha[l2].sahem = baki

if (waratha[l3].selected) {waratha[l3].sahem =
0;waratha[l3] .nasib = 'd'}

if (waratha[l4] .selected) {waratha[l4].sahem =
O,waratha[l4] .nasib = 'd'}

if (waratha[8] .nasib != 'r') {waratha[l2] .nasib =

'c';waratha[l2] .makam = 1}

titp = 1
if (baki % waratha[l2].number != 0)
if (gcd(baki,waratha[l2] .number) != 1) titp =

waratha[l2] .number / gcd(baki,warathal[l2].number)
else titp = waratha[l2].number

waratha[8] .sahem *= titp
waratha[l2] .sahem *= titp
petit *= titp



result.cppcm *= titp

for(var i in waratha)
if (waratha[i] .selected)
if(i !'= 8 && i !'= 12) warathal[i].sahem *= titp
}

/oY asly oY gl ze u>
if (waratha[l3].selected && waratha[l4d].selected &&

waratha[l3] .nasib == 'b' && waratha[l4] .nasib == 'b'")
if (baki % moyen != 0) {
if (gcd(baki,moyen) != 1) titp = moyen /

gcd (baki, moyen)
else titp = moyen

waratha[l3].sahem = baki * titp * men / moyen
waratha[l4].sahem = baki * titp * women / moyen
waratha[8] .sahem *= titp
for(var i in waratha)

if (waratha[i] .selected)

if(i !'= 8 && i !'= 11 && i !'= 12 && i !'= 13 && 1 !=
14)
waratha[i] .sahem *= titp
petit *= titp
result.cppcm *= titp
lelse{
waratha[l3].sahem = baki * men / moyen
waratha[l4].sahem = baki * women / moyen
}
}
[/ (SSL T dacasd)l oYl e ol s B o Sid) oS
>
if (!waratha[ll].selected && waratha[l2].number > 2 &&
waratha[l2] .nasib == " {

11]

b')

if (waratha[8] .nasib != 'r') {warathal[l2] .nasib =
'c';waratha[l2] .makam = 1;}

}

for (i in waratha) {

if (waratha[i] .nasib == "1"){//JLI JS &yl wowas LS 131
waratha[i] .sahem = waratha[i] .number
result.asl =1

result.cppcm = waratha[i].number

}

var masails = Masail.getAll();
for(var 1 in masails) {
if (masails[i] .validate (waratha)) {
result.tasmia = masails[i] .name

}



}

}

clacRad (waratha, xtot) ;

b
getAsl:

by
getAol:

I

function () {
return result.asl;

function () {
return result.aol;

getTashih:

by

getResult
return result;

by

function () {
return result.cppcm;

:function () {

clear: function () {
for (var i in waratha) {
warathal[i
warathali

}
)

] .number = 0
] .selected = false

.factory('Masail', function () {
var masail = [
{
name: 'l i,axJI",
makeIt: function (w) {
w[4] .number = 1 //zs)
w[4d4] .selected = true;
w[6].number = 1 //gl
w[6] .selected = true;
w[7] .number = 1 //oi
w[7] .selected = true;

w[l4]

//S$rootScope.Semit ('calc', true);

by

validate:
if (w[4

&&
&&
&&
&&
&&
&&
&&

.number + w[l5]
return true;
return false

}
by
{

name:

W[5]

function (w) {
.number > 0 // 243 Lg

] .number > 0 // oi,

.number > 0 // al,

.number == 0 // Yl Lg g
.number == 0

.number == 0

] .number == 0

[11] .number + w[l2].number + w[1l3]

.number < 2))

"2 Aoyt
makelt:
.number = 1 //i>y)

function (W) {

.number +



W[5] .selected = true;
W[6].number = 1 //oi
W[6] .selected = true;
W[7] .number = 1 //al
W[7].selected = true;

//$rootScope.S$emit ('calc', true);

by

validate: function (w) {

if (w[5].number > 0

&& w[6] .number > 0

&& w[7] .number > 0

&& w[0].number == 0 // ¥l 4 quy

&& w[l] .number == 0

&& wl[2] .number == 0

&& w[3] .number == 0

&& (w[1ll] .number + w[l2].number + w[1l3].number +

w[l4] .number + w[l5].number < 2))

return true;
return false
}
}I
{

name: "4isyad!’',
makeIt: function (W) {

W[4] .number = 1 //¢z4)

W[4] .selected = true;
W[7].number = 1 //gl
W[7].selected = true;
W[1l].number = 2 //Gsid ¢
W[1ll].selected = true;

W[15]) .number = 2 //pY ozl ¢ ¢l
W[1l5].selected = true;

//SrootScope.S$emit ('calc', true);
by
validate: function (w) {
if(!'w[0] .selected
&& 'w[l].selected

&& 'w[2] .selected
&& 'w[3].selected
&& 'w[o6] .selected
&& 'w[8].selected
&& wl4].selected
&& (w[7].selected || w[9].selected || w[l0].selected)

&& w[ll] .selected
&& w[l5] .number > 1)
return true;
return false
}
}I
{

name: 'du,asyI',
makeIt: function (W) {
W[4] .number = 1 //z4)
W[4] .selected = true;
W[7].number = 1 //al
W[7].selected = true;
W[8] .number = 1 //u>



W[(8] .selected = true;
[12] .number = 1 //4iiid asi
[12] .selected = true;

= =

by

validate: function (w) {

if(!w[0].selected

&& 'w[l].selected

&& 'w[2] .selected

&& 'w[3].selected

&& 'w[o6].selected

&& 'w[ll].selected

&& wl4].selected

&& w([7] .selected

&& w[8] .selected

&& (w[l2] .number == || (w[l4] .number == 1 &&

'w[1l3].selected)))
return true;
return false
}
}y
{

name: 'L, <Lt
makeIt: function (W) {

W[4] .number = 1 //z4)

W[4] .selected = true;

W[7] .number = 1 //al
W[7].selected = true;
W([8].number = 1 //u>

W[8] .selected = true;
W[13].number = 1 //OY ¢!
W[13].selected = true;

W[15] .number = 2 // &Y ozl / i
W[1l5].selected = true;

by

validate: function (w) {

1f(!'w[0] .selected
&& 'w[l].selected
&& 'w[2] .selected
&& 'w[3].selected
&& 'w[o6] .selected
&& w[8] .selected
&& wl4].selected

&& wl[7] .selected
&& w[l3].selected
&& 'w[l4d].selected
&& w[l5] .number > 1)
return true;
return false
}
}I
{

name: 'L SO ',
makeIt: function (W) {

W[4] .number = 1 //z4)
W[4] .selected = true;
W[7].number = 1 //gl

W[7].selected = true;



W[8] .number = 1 //u>
W[8].selected = true;
W[1l]).number = 1 //guis g1
W[1ll].selected = true;
W[15] .number = 2 //OY ;|
W[15].selected = true;

by

validate: function (w) {

if(!w[0].selected
&& 'w[l].selected
&& 'w[2] .selected
&& !'w[3].selected
&& !'w[6] .selected
&& w[8] .selected
&& wl[4d] .selected

&& w[7] .selected
&& w[ll].selected
&& 'w[l2].selected
&& w[l5] .number > 1)
return true;
return false
}
b
{

name: "dioy ',
makeIt: function (W) {

W[5] .number = 1 //i>4)
W[5].selected = true;
W[6].number = 1 //oi
W[6].selected = true;
W[7].number = 1 //gl
W[7] .selected = true;
W[1l].number = 2 // Loy
W[1l].selected = true;

by

validate: function (w) {
if (w[5] .number ==
&& w[6] .number ==
&& w[7] .number == 1
&& wl[l] .number == 2)
return true;
return false
}
b
{

name: 'sL3 %0,
makeIt: function (W) {

W[7].number = 1 //al

W[7] .selected = true;

W[8] .number = 1 //u>

W[8] .selected = true;
W[12].number = 1 //iiib ool
W[12].selected = true;

|
validate: function (w) {
if(w[7] .number ==
&& w[8] .number ==



&& w[l2] .number == 1)
return true;
return false
}
b
{

name: 'y, all all',
makeIt: function (w) { //5! (Olssly oL ED LIS paly za)

paﬁ ey
w([4] .number = 1
w[4] .selected = true;
w[7] .number = 1
w[7] .selected = true;
w[l2] .number = 2
w[l2] .selected = true;
w[1l5] .number = 2
w[l5] .selected = true;
b
validate: function (w) {
if(w[4] .number == 1
&& w[7] .number ==
&& w[l2] .number ==
&& w[l5] .number == 2)
return true;
return false
}
b
{
name: 'dioyLioadr?',
makeIt: function (w) { //zl sdelildly gldo 5 i) o oY 4>
3_5_}.“_5_& ozl g G
w[9] .number = 1
w[9] .selected = true;
w[5] .number = 1
w[5] .selected = true;
w[l] .number = 2
w[l] .selected = true;
w[ll] .number = 12
w[ll].selected = true;
w[l2] .number = 1
w[l2] .selected = true;

by

validate: function (w) {
if (w[9] .number ==

&& w[5] .number == 1
&& wl[l] .number ==

&& w[ll] .number == 12
&& w[l2] .number == 1)

return true;
return false
}
}y
{

name: 'Jol Y1 Wi,
makeIt: function (w) { //ixoyly olsg)y Wy aY 54> 5 oY 54>
olinid ol o351 LLE 3 aY ol g3 gl b g3
w[9] .number = 1



w[9] .selected = true;
w[10] .number = 1
w[1l0].selected = true;
w[5] .number = 3
w[5] .selected = true;
w[1l5] .number = 4
w[l5].selected = true;
w[l2] .number = 8
w[l2] .selected = true;

by

validate: function (w) {
if(w[9] .number == 1
&& w[1l0] .number ==
&& w[5] .number == 3
&& w[l5] .number ==
&& w[l2] .number == 8)
return true;
return false
}
b
{

name: ' Ladll",
makeIt: function (w) { //4iiid o5y aly zg)

wl(4] .number = 1
w[4] .selected = true;
w[7] .number = 1
w[7] .selected = true;
w([l2] .number = 1
w[l2].selected = true;

b
validate: function (w) {
if(w[4] .number ==
&& w[7] .number == 1
&& w[l2] .number == 1)
return true;
return false
}
b
{

name: 'JyLll gNIT,
makeIt: function (w) { //oY asly oY 1 o oliiid oLis!

(
w[l2] .number = 2
w[l2].selected = true
w[l3] .number = 1
w[l3] .selected = true
w[l4d] .number = 1
w[l4d] .selected = true

|
validate: function (w) {
if(w[1l2] .number ==
&& w[l3] .number ==
&& wl[l4d] .number == 1)
return true;
return false



name: 'aggall Y17,
makeIt: function (w) {
w(4].number = 1// 245 Leus idlus

w[4d4] .selected = true
w[1l2] .number = 1 // iiib osl,
w[l2] .selected = true
w[13].number = 1//0Y 1
w[l3].selected = true
w[1l4].number = 1//0Y oz,
w([l4d].selected = true

by
validate: function (w) {
if(w[4] .number ==

&& w[l2] .number == 1
&& w[l3] .number ==
&& wl[l4d] .number == 1)

return true;
return false
}
}y
{

name: 'pgoaall ooyl
makeIt: function (w) {
.number = 1// z53 Lead ILall
.selected = true
.number = 1 // ol
.selected = true
.number = 1//al,
.selected = true
.number = 1//o0,
.selected = true
.number = 1//501 asg
.selected = true
.number = 1//501 o2l
selected = true

= =
S

£ £ £ %% 1 1 1 1 %
NN WWRE R JJ0 o b

by

validate: function (w) {
if(w[4] .number ==

&& w[6] .number == 1
&& w[7] .number == 1
&& w[l] .number == 1
&& w([3] .number == 1
&& wl[2] .number == 1)

return true;
return false
}
by
{

name: "dSydl & 3) 343Y gz A21) T,
makeIt: function(w
w[8] .number = 1

w[8] .selected true
w[ll].number = 2
w[ll].selected = true
w[l2] .number =1
w[l2].selected = true

by



validate: function () {
return false;
}
b
{

name: 'S0 &) basY Il oae uE1) ',
makeIt: function (w) {

w[8] .number =1

w[8] .selected = true
w[5] .number = 1
w[b] .selected = true
w[ll].number = 2
w[ll].selected = true
w[l2] .number = 1

w[l2] .selected = true
b
validate: function () {

return false;
}
}y
{

name: "iSyJl pwdw) 343Y zo 431) ',
makeIt: function (w
wl[l].number =1

1

w[l].selected true
w[8] .number =
w[8] .selected true
w[ll].number = 2
w[ll].selected = true
w[l2] .number = 1
w[l2] .selected = true
}I
validate: function () {

return false;
}
Yo
{

name: 's3¥ 1 Jylay) 343YI me A21) T,
makeIt: function (w) {
w[l].number = 1

1

w[l].selected true
w[8] .number =
w[8] .selected true
w[ll].number = 1
w[ll].selected = true
w[l2] .number = 1
w[l2].selected = true
by
validate: function () {
return false;
}
}
]
return {
getAll: function () {

return masail



by

getMasala: function (masala) {
if (!isNaN (masala)) {
return masail[masala]

}

for (var i1 in masail)

if (masala == masail[i] .name) {
//console.log(masailli]);

return masail[i]

}

throw 'ilJlws 4>s0 ¥ ' + masala

}
}
1)

.factory('$localstorage', ['Swindow',

return {
set: function (key, value) {

function (Swindow) {

Swindow.localStorage[key] = value;

by
get: function (key, defaultValue) {

return $window.localStoragelkey] || defaultValue;
b
setObject: function (key, wvalue) {
Swindow.localStorage[key] = JSON.stringify(value);

}y
getObject: function (key) {

return JSON.parse ($window.localStoragelkey] || "{}"');



